o A |0 A pzv]
o N | ON N
— Pl oM 47
m o - O o
[») = N = =
S m|[=m m
%3 =4 = w o
@] 5] =7 =
= m o o
Z |82 =
(o= N < =
O
= 3
= =
>
=
m
6,10 118,76 U
5,61 118,72 ~
458 119,141 ) &)
419 119,11 I )
-365 ", 119,47 / 3—.
290 | .01 119,51 |
275 7 15,9 Ji19.51
236 {118,049 — K
< o o
< s o
< <D <
< 2 B
<§ = =
000 119,24 1119,57 K
0,33 118,991 — _
R z =
g 28
< 1} 1}
< =]
4 8 F
975 119,18 119.51 3 3
X ] 119,01 3342 1
%gg 119,07 4175.01 11951
365 119,47
450 118,89 -
550 118,771
470 J120,99- U
~
365 120,93
324 120,91 N
290 12048 120,98 N
275 1 120,483120,98
" N
(@]
O
X
E el el
0,00  120,974120,704121,03 < g g
4 =B 3B
2 =2
z =
w
200 4120902085 h120,08 3 S
290 ] 120,45 (120,98 e
) aon
365 | 120,93 =
370 7 120,90 3 g
N N
4,70 120,901
480 121,351 U
~
=377 | 121,35 .
365 121,35 121,27
3% 120,81 —
290 | 81 l191,31 ‘
275 7 }%8’318-121,31 ©
, ] o
1 W
q O
0,90 121,311 <
o o
0,00 121,044121,37 s 5
2 3
2 =
=
z =
0,5 19118 3
775 17 gLy Pl
90 120,81 12131 o =
365 | 121,27 S 2
374 7 12121 3 32
470 121,23
(480 121,44 U
~
By | [As ’
121,07 N
290 | 07 191,57
575 7 121,07 312157 ~
, O
~
1,38 121,51 1 -
el el
0,00 121,304121,63 s &
B 3
= =
171 121,43
s =
s | [Bathmel ] 3 S
2,90 121’07 121,57 ’ = —
565 121,53 i g g
$94 12134 ’ SN
500 121,29
4,23 121,004 U
-~
332 | 120,99 :
315 7 121,10
2,40 | 120,59 121,09 N
225 J00813076 2109 -~
-1,97 ) X N
&
0,40 120,921
000 120,71 {121,04
s 2
[+) D
=] =]
X g g
1,86 120,901
P25 |7 15080 hat00 K
2,40 120,5 121,00 § §
315 | 120,95 3 g
3,19 120,93 1 I
=4 =
420 12095 g 8
N N
4,50 120,981 U
~
3,53 - 120,91 :
315 120,66 ~
2,40 120,14 120,64 N
Ky 120,14150:
223 Toosoia0 i 12064 o
< —
O
K<
0,22 120,771
000”1297 N20.27-120.60 >
< @ @
=l =4
q & B
< b &
1,30 120,74
120,22 ¢
025 | 120,05.1120,55 ‘ z =
240 7 120,057120.55 =
120,45 3 8
3 120,41 1120,51 -
X 120,84 S o
] 120,744120, S
200 Joos] 20 ' g g
N N
4,15 116,004 / U
3% 593! [11593 2
315 1 115,70
240 | 1119 115,69 ‘ +~
2,25 125 115,69 0
X E gD
¢ N
< (@)
0,00  {115,584115,31 115,64
S
D
©
R g
115,27 X
R T
261 158511350 | =
315 115,451115,55 3
365 ] "
38 41000 19781588 s
(=]
3
N>
549 117,11 |
6,00 117,151
BE A
ZEr 8 £ |m8 |l
sRE3 (= 2287 8 %
= T o . N
i & © 20 - QE(D g >
= N =SSO |- s
m g EQ.C c 3
— e 1S nmg_ X ~
s |3 & & 2 =1|3 8
~ - > ; bt o Q ;‘r =
R IE[27| m B o8 &
AHE : 353
=z g8 [Z]° ) = NO\|=
S |8 o §F 5@ =
NS ) a «a >
g B 5] B R 3 |g
gl [Z|_% ™ 5|2
=S = |8 ° (@] = I
[ = N < [«
s 8 = 3 |8
g |2 m Z
]
o 3
2| Y
8 N
)
v

‘Mod 9jod

TW9e'e = dOMAM

o A |V A0 )
o N | DON N
— Enal oJdmMm J4J7
m o - O o
[») = N = =
S m|=m m
%2 = | = w s}
o m([(=T ]
a mo o
=z |82 &
< o =
= 3
= =
>
=
m
5,00 118,73
3,96 118,71
365 118,92
—2,90 118,46 118,96
575 1 118.46 315"
56 J1869iiges (11896
%
<
%
<
0,00  -118,774118,69 119,02 S
<
q
q
q
2,75 118,63
277 118,64118,45118,36
2,90 118,46 111896
365 118,92
438 118,43
5,40 118,30
4,70 120,65
-3,73 | 120,56
3% Joss{ (12062
-2,90 | 12016 120,661
-2.75 215712066 %
<
<
0,25 120,61
0,00 120,39-1120,72
X
223 12053 5
0,75 | 15076112066
2,90 120’16_120,66'_‘_"
365 | 120,62 |
372 7 120,667
6,34 120,90-
6,60 120,90
4,70 121,18
369 | 121,14
235 hovr 217
290 17 200 izt ‘
-2.75 2088 121 S
<
<
0,00  {121,204120,944121,27
<
)
2.75 12088 191,91 <
. l120,714121s ,
e 229507 2.2
365 | 121,17
373 7 121112
470 J121,11
4,36 121,45
367 | 121,46
3,65 121,47
2,90 | 121,02 171 57
R 121.023151" w
275 2008712152 z
<
<
1,50 121,48
0,00 121,24 4121,57
1,93 121,40 <
121,19 <
2,75 E 121:02:121,52 .
2,90 157707 121,52
365 | 121,47
377 7 121,39
480 121,39
3,66 121,48
-394 | 121,45 | ]
315 7 121030
_2’40 i 120,88_121 38
-2,25 7 120,88171,38
202 213812105 <" ;
<
<
<
<
0,00 4121,384121,004121,33 S
<
<
<
<
1,55 121,37
120,96 %
0,25 | 190 121,29
20 1 [RRYnT—
315 | 2124l
330 7 121,34
3,00 121,33
—4,40 121,00
343 120,98
315 120.80-
" 120,28
: 120,45 14>
1,80 {120,951
<
<
%
0,50 120,92 <
0,00 120,414120,74 %
<
<
<
¢
192  1120,88-120,36
25 1 120,19.4120,69 <
240 12019 120,69 T———
120,5
315 120,55-120,654——
0% | e
410 121,021 ST
4,00 118,34
329 | 118,35
315 7 118,26
2,54 117,74
240 31890704 1824 e
~2,25 117,91 g <<
<
<
<
<
090> 118359117,87 118,20 ;
<
<
<
<
2,25 H%gg 118,15 ¢
2,40 1839 117,65 1815 T——
2,64 ,39118.05
315 118,01 118,11 ——
365 118,34 1118,44
415 119,41
522 119,48 -
6,00 119,54
<S8
K
X
<<
<X
<
$ 0
< <<<<
< o
,(<, <K '2'
=
| | | | Q
~3 2T =B 3 =
2.3 S S & =
S5 %% os
= 9 o o .
T2 2 8 ~
oL B
S3 S =
s g 2 g
s

witkd - G1'9C MId

qWE9'0 = dASWN

w0686 MId

TWOL0 = dASYN

wied 09141 TMId

TW0I'0 = dASYN

A A

TWOL'0 = dASWN

Wi 90°0Ce MId

TW000 = dASWN

wiwd 00°GeY MId

TW0'0 = dASYN

‘mod 3jod

TW/E'0 = dOMAM

‘nod 9j04

TW6Z'L = dOMAM

‘Mod 9j04

Twzs'l = doYAM

‘mod 3jo4

TWLE') = dOYAM

‘Mod 9j04

TWSE'L = dOMAM

‘mod 3jod

TW90'T = dOMAM

w7097 MId

TW00 = dASYN

‘mod 3jo4

TU06'c = dOMAM

o |V )
S| B|28| B
m o |cg|l O
g Z2A| A
8 = | = w )
@] m[(=T =
D Mmoo o

[nal - N ] pa
Z|INCcS m
<o =

= 3

= =

>

=

m

470 119,32

371 | 119,31

365 7 119,27

2,90 | 118,82_119’32

202 Jro30{iiaes 192

' <
<
<
<
<
¢

0,00  -{119,374119,04 119,37 <
<
<
<
<
X

2,55 1119.241118,99

2,75 ' ‘o5 119,32

o 1 [ '

365 119,27

582 1 119,16 1

480 {119,101

530 119,75

4,29 119,69

403 119,67

3,65 120,11

-2,90 )

g e

-2, 119,82 2
<
<
<
¢
<

0,00  -{119,804119,88 120,21 <
<
<
<
¢
<

b8 o0 el

2:90 1 119:65'120,15

35,65 120,11 1

419 119,75

5,20 119,80

4,70 121,131

3,66 | 121,08

-368 12107

=310 4191,054120,61

-2,90 17 hogsi 712t

n 813121711

275 120,78 S
<
<
<
¢
<

000 51 13 1208412117 :

1] 4 <
<
<
X
¢
<

120,78

%% .. [2oer{iZLl <

3:10 ~121,054120,61 ’

565 | 121,07

569 1 121,04

470 121,03

5,00 -{121,44-

:%;%2 1121411 121,41

-3,65 ]| 121,37

120,92

290 | 92 1191,42

20 3 120,92151"

-275 120829121,42 :
¢
<

1,12 121,451
<
<

000 121,14 121,47 <
<

22 A%

2,75 | D 21,42

200 1 [isadhane

365 121,37

4,70 121,381

4,40 121,50

3,36 121,47

-315 7 121,61

240 | 121,10 191,60

2,25 '121,44'}%}'129'121,60
<
X

000 -J121,504121,22 121,55 <
<
¢

162 121,53 ;

121,18

225 | 15101 121,51

2,40 15701 121,51

315 121,46-2

420 121,41

4,70 120,73

415 120,72

344 120,74

315 120,94

_ 120,42

538 1 2035

193 120,79120,59 [

000 120,88

000 319078]12055 120

2,17 120,50

225  120651190334120.83

2,40 120,33 120,83

315 120,79

354 120,52

4,00 {120,481

450 120,46

4,20 120,22

322 | 120,15 | I

315 7 12010

-2,40 | 119’58-120,08

:%,128 :120’03.}}3:%'120.06
K
¢

0,35 120,02 <

000 119,71 120,04
<
<
¢
<

119,66

213 J119.98-4119.49 li19.99 <

7% 1 11949 7119,99

' 119,89

S 119,85119,95 ———

S 120,28

4 120,18 120,28 ]

ggg J120,30- 120,25

ot o6 00°0 “Mid

W00 = dASYN

ww GG/ HId

TWgy'L = dASYN

wiwd /1L YL M

TWG0'0 = dASYN

wid 12T M

qwz0'0 = dASWN

Wi 0L Y6C MId

TWEL0 = dASYN

wied 9G0LE I

TW9e0 = dASYN

e 8ROy Hld

TW0'0 = dASYN

¢ VSVl

‘mod djog

Twog'l = dOMAM

‘mod 3jod

TWZ0'0 = dOMAM

‘mod 3jod

TWOL'L = dOMAM

‘mod 3jod

TW6L') = dOYAM

‘mod 3jod

TWHel = dOMAM

‘Mod 9j04

TWz0'l = dOMAM

‘mod 9jo4

TUZ8’l = dOMAM




